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SAMPLE PAPER 6: PAPER 2

QUESTION 4 (25 MARKS)
Question 4 (a)
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In any normal distribution with mean p and standard deviation o.
1. 68% of the data falls within 1o of the mean .
2. 95% of the data falls within 20 of the mean p.
3. 99:7% of the data falls within 30 of the mean .

Question 4 (b)

u—20=24.8

u+2o =364

2u =61.2 = u=30.6 years

30.6-20 =24.8
5.8=2c

..o =2.9 years

Question 4 (¢)
u=30.6 years

o =2.9 years
P(x>30)="?

x:30:z:x_ﬂ:30_30'6

o 2.9
P(x>30)=P(z>-0.21)
=1-P(z<-0.21)
=1-P(z>0.21)
=1-{1-P(z<0.21)}
=P(z<0.21)}
=0.5832

=58.32%

=-0.21
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